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EXERCISE 7.7

Integrate the functions in exercise 1 to 9

1. /4 — x?

Solution:
Given:

mM—xz

Upon integration we get,

Ia—xdx=J(2) =(x)" dx

By using the formula,

r 2 2 T ) 2 ﬂ; . 1 X

[ya? —x?dx =Z4fa’ —x* Ssin'2+C
2 2

S0,

- A I 4 4 . 1 X

[Ja-—x*dx=2Af4-x" Zsin ' 2+ C
2 2 a
X 3 . 1 X

=ZA4-x7 +2sin7 2 +C

2 a

2. 31— 4x2

Solution:
Given:

VI1—4x2

Upon integration we get,
-4 dx =[J(1)° - (2x)" d

Let2x=t
S0,

2dx =dt
dx =dt/2
Then,

=21 () —(1)at
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By using the formula,

- 2 2 X 2 2 d b4
lja —x"dx == —X‘—sm 124
2 2 a
So,
1|t > 1 . 1 1
I—:{Eﬂ.fl—t —Esm tI—C
ot 1 . _
-t + Zsin't+C
4 4

3_\/):3 +4x+6

Solution:
Given:

\/x1 +4x+6

Upon integration we get,
I :J'\/::s:2 +4x +6dx
= |.'\("X2 +4x +4+2dx

—I.\/x— + )dx

By using the fﬂrmula,

X 5

. v oA
[Wx? +a’ dx——\/x‘—a‘—Tngx +C

L IIX_.—a_-

" "

S0,

) - )
I:(X H)\/}:"—ilx—ﬁ—:lc-g

(X—E)—\/Xz—ilx—ﬁ‘—

-2

) -
:(K H)\/x"—ilx—ﬁ—log

{X—E}—\/}(E —4x—6‘—

-3
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4. .\/xz+4x+1

Solution:
Given:

\/xz +4x+1

Upon integration we get,
[=]Vx" +4x +1dx
=,|'\/()v;2 —4x—4)—3dx

Iylee2) (35

By using the formula,

-y

(=27 ~(¥B) ax =24
So,

M .
[ = (X ﬁ H) VX +4x +1 —:log
5. \/l —4x—x?
Solution:
Given:
\/l —4x—x*

Upon integration we get,
[=[1-4x—x"dx
=.|'\/1—(:s{2 +4x +4-4)dx

:.f\/1+4—(:x;+2)2 dx
~T(N5) —(x+2) dx

By using the formula,
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+C
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. X 5= a . X
[+Ja? —x*dx = = a—x*+Z sint2acC

S0,

iRy - _2‘
I:(X H)\.fl—ilx—x"—;sin_l[x J—C

)

"

7 -
6. \{x“ +4x-5
Solution:
Given:

\fxg +4x—-3

Upon integration we get,
[=+/x° +4x - 5dx
:J'\/(x2 —4x—4)—9dx

— [ J(x+2)"=(3) dx

By using the formula, .
[4/x* —a’ dx—: xz—aj——_log +x?—at|+C
S0, ) .
I:(X_z)\/x +4x — 5——102

i

X+ x.fx +4x — ‘

J'-'

7.1+ 3x— x*

Solution:
Given:

V1+3x— x?

Upon integration we get,

[=[+1+3x— x” dx

=,f\/1—[x2—3x—2—ngx
4 4
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|\/ 12222

N RVES }—[X—EJE dx

-
"

By using the formula,

[ 2 2 X 9 7 a- . _
|aja-—x"dx =Zafa- —x" +—sin 12 .¢
2 2 a
S0,
X 3 X 3
) 13 . %7 5
[ = = N1 +3X—X" + sin = |+C

[§
Ja
4
[

=
fad

8. x? +3x

Solution:
Given:

\ x? +3x

Upon integration we get,

=] x” +3xdx

- 5 9 9
= | Jx‘—Bx————dx
4 4

-3 (3o

By using the formula,
r 3 3 X 3 5 a” 3 3
| X‘—a‘xdx:: X‘—a‘—Tngx— X“—a’

https://byjus.com

Integrals


https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

m BYJ U'S NCERT Solutions for Class 12 Maths Chapter 7 -

The Learning App Integrals

23 —

X + - ‘

'.’ N 5

[ = = x"—Sx—%log{x—;J— X" —3x|+C
2x+3 > 9 3 >

2( }xax‘—Bx—glog[x—;J—xa‘x‘—Bx +C

2

1+

9 9

Solution:

Given:

2
1+L
\! 0

Upon integration we get,

-

1
EF
:—|-1|||( ) +x° dx

By using the formula,

-~

[ 9 9 a”
[4/x* +a% dx ——*\.J'X' +a- —Tlog

.ﬁ’ "

Xx“+a|+C

S0,

1 3 9
I = g{éxrx' +9 —:log X

e’

—sz—ﬂ]—c
_ﬁfxf_g‘_

X 2
= —4/x"+ 0+ Joglx
6 2

Choose the correct answer in Exercises 10 to 11
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10. | V1+x? dyisequal to

+x* —%log(x—mﬂl—xg)‘—f

(1+x7)2 +C

x(l—xj)2 +C

| b ey

A,

P | s

B.

w119 1)

C.

| ra

x 1+x° lleog
D.: A £

i

+C

o)

s

Solution:
Given:

J\;‘ [+x2 dx

By using the formula,

-

[ 7 3 3 7 a” 7 7
| a‘—X‘dx:: a- +x- —Tlog X+4/Xx " +a" |+C
S0,
r k) X 3 1 k)
| I—X‘dx::\ﬂl—}(‘ —:log Xx+41+x° |+ C

i

Hence the correct option is A.

11. J-\/.l'z —8x+7 dx is equal to

Aé(x—il)\/xz—lx—?—Qngx—il— x* —8x+7

X+4++x?-8x+7|+C

B'%(x—iﬂ x° —8x + 7 +9log

"
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c %(x—iﬂwixz —8x+7 —B\Elog X—4+4/x° -8x+7|+C
b é(x—iﬂwa‘xz —8x+7 —§log X —4++/x7 —8x —?‘—C
Sollrtion: -

Given:

J-\/ x2—8x+7 dx

Upon integration we get,
I=[+/x" —8x+7dx

=] J(x*> —8x +16) -9 dx
—[J(x—4) —(3)" ax

By using the formula,

r 3 3 X 7 7 ?12 3 3

| x'—a'dx::wax'—a' —Tlogx—wax'—a' +C
50,

_4 -
[ = (Xﬁ }w.ax" —8x +7 —glog

s s

Hence the correct option is D.

{X—4}—\Fx2—8x—?

+C
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